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N.B. (1) Question no.' is."-oi'o:il:"' ^."i1:'l:{s":siif;{:'Igtf;t@ Attempt any three from the remaining. -.rj1{;^+t)si$'.rt"*l,.31,";'v.pt)$^;ri1;;;*11
(3) Make any suitabre assumption wherever _::l:ii;i;i*itili*,.&$

e.l Answer any rour. ,f{;t*:i+}'5rg$it"l,^S+?n:..:C*:,;}ld*
(a) Explain properties of magnetic materials .rquiie'ifJr{rb""tiiltrilutfn6}i:iiE"iitdl.iji'!Ml:i"r'
(b) Explain saving of copper in autotransformggol6ityo wqt'di$E".$"?rl$tb-rr,=eg':+ )ii.li{sM'i;
Gt exptain the conditioni ro. parallel operation',(iith,;gpbq$e'itailSfofii#r-],."r"$4.qlt+*..pytn
(d) Explain disadvantages of harmonics in trdn'sioriri€$i:1,$;';i^*?'+'t.C.{,n"]'.flg1-{l.+*iqV
Gt exptain Burden of potential transform{f.J^l'il-*^*.''.f:-i',;:l;"",g",,1",+i'",.*t**51.* a:Jy

.rr'i"-;iLs..::;{,rf ;f .tftiffi i;-1is!cin-i'i-$,*-r"g'
e.2 (a) Draw and explain back to back te{ti.!:*i-r.l' .t}$'.-"-.'",r)tt!-'i'-glil,"r1$*,,rnfgtrl';tt" l0M- 

at ) rwo single phu'" transformersiei'afij1f:i4f.,i-hi..gggKVAdi"S506Kylie'[:u'. 10M
operated in parallel to supply',a'!o'i$-Sf4qQqK.Y4*4i,0,gJa$gipdln'qWnr'$ften. rn.
resistance and reactan.. oiilu.rilrdr$"cf.4il$B'a>is|.irli)*trfr1e'inatqr$dfr,sT6'-er s
are r.s%o and 8o/o. calotfl#,*fie[nArlflaUi*iti:tii,p""y,"_{$61*:Uffhich each
transformer operate. ..*1#";fr;'irld^$r'i5,,ri;*:,;:, 
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e.3 (a) Explainexcitationr'fii"q"eiEg.olib-tp'itr4r€".{ifr.f"{.9f;',ii=i, l'r 10M
(b) Calculate the po'loafl 

"curregf 
of a'f0"CV"'i50 Hz,,rSingli ptrase core ttoe transformer l0M

having the follivhds"ol.lu,;-1,; ;..+l{.J'",'1.1' ;i .i,j 
-.1 

-;*:,; .,;: nhavlng the follo. wlng daHri .;,1 .:: .# ,;F --'l;;" ,,.,; ; i;:' ir\].- -l ',:-':-...i -,*-
Stacking rq6tiif p.n.' $u1iiffi,pjiolp,'El'l1eiig ux path: 2.2 m, gross
iron sec-tioi'+,.]pi1ti"*,tpiia"v.t"dsE*io:;i*i'fiip; r"nt io 0.2 -'n oiigup.
Assume'minf/meter';12.1.9 
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YtFg for the ccrresponding flux
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